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Έχουμε :
2 22 2

100 100         

Όπου  x 1, y 2    και   x 7, y 6     

Άρα         
2 2 2 2

x 1 y 2 x 7 y 6 100          

2 2 2 2x 2x 1 y 4y 4 x 14x 49 y 12y 36 100               

2 2 2 22x 2y 16x 8y 10 0 x y 8x 4y 5 0             

που είναι της μορφής 2 2x y Ax By      με   8 , 4 , 5         

και  2 2 4 100 0        άρα η εξίσωση παριστάνει κύκλο με κέντρο 

 , 4, 2
2 2

  
     
 

  και ακτίνα  
2 2 4 100
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   
     

 
 


